0¥0'66$
1214625

L9VP9'T
00'7€6'Y

791°96€$ 1500 SOIVN
791°96€$ 1502 $S24ppY
L9859 sinoy SOIVN
£9'8LS'9 sinoy ssalppy
[\4
ST'OvS

291°9¢t$ (Aoualy snid syuopuodsay]) 150D 1101,
6L6%9 (Aoua3e pue syuapuodsay]) sINOH [e10],
0% 1509 J0qe[-uou Aouady [enuuy
000°0%$ 150 10qeT Aouddy [enuuy
00 SINOH Ioqe Aouady [ej0]
791°96€$ (uou -+ 10qey) 150D Juapuodsay (10,
0% 180D
[ende) pue 290 Juopuodsay [enuuy

791°96€$ 1500 J0qe T Judpuodsay [enuuy
110 asuodsay] 10d simoy juspuodsoy
6L5°9 SINOH Joqe] juopuodsay [e10],
9 Juapuodsoay 1od sosuodsay Jo roqunN
80C°6S sosuodsay [enuuy [e10]
898°6 syuopuodsay JO IPquInN

91C°€8S$ (Aoualy snid syuopuodsay]) 150D 110,
E6 (Koua3e pue syuopuodsay]) SINOH [8I0]
0$ 1509 10qe[-uou Aouady [enuuy
000°SS$ 1500 10qeT Aouady [enuuy
0SS SInoH JoqeT Aoudldy [e10],
917°8TS$ (uou + 10qeY) 3500 Judpuodsay 1101,
0% 150D
ende) pue N0 Juspuodsay [enuuy

91C7°8TS$ 1500 JoqeT juapuodsay [enuuy
S1°0 asuodsay] 10d sioy yuspuodsoy
TLL'S SINOH Ioqe] juapuodsay (810
009 yuapuodsoy 10d sosuodsay Jo zequinN
80265 sosuodsay [enuuy [e10L
898°6 Sjuopuodsay Jo JoquinN
1 uondQ .10j 350D pue UIPINY [ENUUY IFBIIAY

62°08$

€TELLSS (Aoualy snid syuopuodsay]) 150D 18101,
LOOY1 (KouaSe pue syuopuodsay]) SINOH [8I0L
0$ 1509 J0qe[-uou Aouady [enuuy
000°S8$ 150 10qeT Aouddy [enuuy
0S8 SINoH J1oqe] Aouady [el0]
€TETOLS (uou + I10qey) 1500 Juapuodsay (8101,
0% 180D
Tende) pue N0 Judpuodsay [enuuy

£TETOLS 150)) JoqeT Juspuodsay [enuuy
720 asuodsay] 10d simoy juspuodsoy
LST'ET SO J0qeT 1uspuodsay [e10 ]
9 juapuodsay 1od sosuodsay Jo requnN
80C°6S sosuodsay [enuuy [e10]
898°6 syuopuodsay JO PquInN

saed X sun.aoday yuanbasqng

Jed X sunaoday Isarg

1 uondQ 10j 3S0) pue UIPINY [ENUUY JUI] W0Y)0Y BE'9 Iqe ],




0v0'66S
08S'€0€S

SY9'T
1v0‘s

SEV'TS
¥9L'0TS

ve
6.1
S09°L6S

918°761S

1291
€98y

79T'96€S
029'c0vS
659
9899
TvL'SS 1502 §IJIVN
661°CTS 1502 $S3IpPY
S6 sinoy SJIVN
€0¢ sJnoy ssauppy
ssaumo a|diynin
TZV'06€S 1500 SOIVN
TTr'06€S 1502 $S2UPpPY
€879 sinoy $IIVN
€879 sinoy ssaippy
Jaumo aup
08'0vS
079°Thr$ (Kouady snid syuopuodsay]) 150D [810],
980°L (AousFe pue syuopuodsay) sINOH [0,
0$ 1509 J0qe[-uou Aoudgdy [enuuy
000°0+$ 1500 10qeT Aduddy [enuuy
00t sINOY JoqeT Aouddy [ejo],
029°20t'$ (uou + 10qe[) 1500 JUdpuodsay [e10],
0% 150)) [ende) pue NO Judpuodsay [enuuy
029°20v$ 1500 10qeT Judpuodsay [enuuy
110 osuodsay 10d smop juopuodsoy
9899 SINOY JoqeT Judpuodsay [e10],
¥0'9 Juopuodsay 1od sesuodsay Jo roqunyN
L€9'6S sosuodsoy [enuuy [e10],
898°6 sjuapuodsay Jo Joquiny

s1ed X unaoday yuanbasqng

7€ 1659 (Kouady snid syuopuodsay]) 150D [810],
Sth'6 (KousFe pue syuopuodsay) sINOH [BI0],
0$ 1509 J0qe[-uou Aoudgdy [enuuy
L99°95$ 1500 10qe Aousgy [enuuy
L9S sINOY JoqeT Aouddy [ej0],
¥L9'VESS (uou + 10qe[) 150D JUdpUOdsay [e10],
0$ 150)) [ende) pue O Judpuodsay [enuuy
¥L9'vESS 1500 1oqeT Juspuodsay [enuuy
ST°0 osuodsay 10d smop juopuodsoy
6L8°8 SINOH 10qeT juapuodsay [e10],
09 Juopuodsay 1od sasuodsay Jo requnyN
LE96S sasuodsay [enuuy [e10],
898°6 sjuapuodsay Jo Joquiny

Z uondQ 10j 350D pue udp.Ing [ENUUY ISBIIAY

S6°08$

78L°888% (Kouady snid syuopuodsay]) 150D [810],
[Sk4t (AousFe pue syuopuodsay) sINOH [8I0],
0$ 1509 J0qe[-uou Aoudgdy [enuuy
000°06$ 1500 10qe Aduddy [enuuy
006 sINOY JoqeT Aouddy [ej0],
78L°86L$ (uou + 10qe[) 150D IUdpUOdsay [e10],
0$ 150)) [ende) pue O Juspuodsay [enuuy
78L'86L$ 1500) 10qeT Judpuodsay [enuuy
0 osuodsay 10d smop juopuodsoy
ST SINOY J0qeT Judpuodsay [e10],
09 Juopuodsay 10d sesuodsay Jo requnyN
LE96S sasuodsay [enuuy [e10],
898°6 sjuapuodsay Jo Joquiny

183X

gun.aoday] isaig

7 uond(Q 10j 30D pue UIP.ING [ENUUY dUI'] W00y




